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QUESTION 1

In a Cross-vCenter environment, where is information about local logical switches and local logical routers maintained?
A. Local Controller Cluster

B. Platform Services Controller

C. Universal Controller Cluster

D. Local Transport Zone

Correct Answer: C

QUESTION 2

Which service cannot be included in a Security Policy using Service Composer?
A. Endpoint Services

B. Firewall Rules

C. Virtual Private Network Services

D. Network Introspection Services

Correct Answer: C

QUESTION 3

What is the most restrictive NSX role that can be used to create and publish security policies and install virtual
appliances?

A. Security Administrator
B. NSX Administrator

C. Auditor

D. Enterprise Administrator

Correct Answer: D

QUESTION 4

In a Cross-vCenter NSX deployment, what are two requirements that must be met in order for an administrator to deploy
both universal logical switches and local logical switches within the same vCenter instance? (Choose two.)

A. A universal distributed logical router must be created.
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B. A local distributed logical router must be created.
C. A universal transport zone must be created.
D. A local transport zone must be created.

Correct Answer: CD

QUESTION 5

An administrator has been asked to provide single failure redundancy. What is the minimum supported number of NSX
Controllers needed to meet this requirements?

A2
B.3
C.1
D.5

Correct Answer: B

QUESTION 6

An administrator has implemented VMware NSX on a leaf-spine underlay. They have deployed the following in the data
center:

Two racks for a management cluster that is not prepared for VMware NSX

*

Six racks for compute clusters

*

Two racks for an Edge cluster which holds a DLR control VM for bridging, and North/South Edge Service Gateways
Which three of the following are true regarding the physical and logical networking of the environment? (Choose three.)
A. At least one VXLAN segment spans across all the racks.

B. VXLAN segments span the compute and Edge racks.

C. At least one VLAN spans the compute racks.

D. At least one VLAN spans across the two management racks.

E. At least 2 VLANSs span across the two Edge racks.

Correct Answer: BCD
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QUESTION 7

An NSX administrator notices an error during the initial configuration of the SSO lookup service, as shown:

Trust Certificate?

= NSX Management Service operation failed. (initialization
Roote Cause. The SSL certificate of STS service cannot

Lookup Service htips://vci.glacier.local:7444/lookupservice/sdk presente
thumbprint:

4C:9F:AE:2D:AD:D2:BB:90:E1:E0:32:A7:1C:2B:1E:E5:4D:B5:2B:8C

Proceed with this certificate?

The administrator pulls up the lookup service status, which displays Disconnected.

Lookup Service

ForvCenterversions 5.1 and above, you may configure Lookup Sernvice and provide the S50 administrator credentials to register NSX |

Lookup Senvice: hittps:fivet.olacier local: 7444/lookupservice/sdk
580 Administrator User Name: administrator@vsphere.local
Status: @ Disconnected o

What step should be performed to resolve this issue?
A. Change the Port number from 7444 to 443

B. Change the SSO Administrator User Name
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C. Regenerate the SSL Certificate and reboot the NSX Manager
D. Use IP address versus the DNS name in the Lookup Service

Correct Answer: A

QUESTION 8

What are two things that should be done before upgrading from vCloud Networking and Security to NSX? (Choose

two.)

A. Power off vShield Manager

B. Deploy NSX Manager virtual appliance

C. Uninstall vShield Data Security

D. Ensure that forward and reverse DNS is functional

Correct Answer: CD

QUESTION 9

Which load balancing algorithm is only available on a vSphere Distributed Switch?
A. Route Based on Source MAC Hash

B. Route Based on Originating Virtual Port

C. Route Based on IP Hash

D. Route Based on Physical NIC Load

Correct Answer: D

QUESTION 10

Which are two uses of the NSX DLR protocol address? (Choose two.)

A. When configuring BGP the protocol address is used to forward traffic to peers.

B. When configuring BGP the protocol address is used by the protocol to form adjacencies with peers.

C. When configuring OSPF the protocol address is used to forward traffic to peers.

D. When configuring OSPF the protocol address is used by the protocol to form adjacencies with peers.

Correct Answer: BD
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QUESTION 11

What is the best practice workflow for a NSX installation to support logical switching?

A. Deploy NSX Manager, Configure Logical Switches, Register with vCenter, Deploy Controllers. Prepare hosts
B. Deploy NSX Manager, Deploy Controllers, Configure Logical Switches, Register with vCenter, Prepare hosts
C. Deploy NSX Manager, Register with vCenter, Prepare hosts, Deploy Controllers, Configure Logical Switches
D. Deploy NSX Manager, Register with vCenter, Deploy Controllers, Prepare hosts, Configure Logical Switches

Correct Answer: D

QUESTION 12

What is the minimum NSX role necessary for a user to edit the firewall on an Edge Services Gateway (ESG)?
A. Auditor

B. NSX Administrator

C. Enterprise Administrator

D. Security Administrator

Correct Answer: D

QUESTION 13

When running the NSX Control Plane in Hybrid Mode what are the minimum physical network requirements? (Choose
three.)

A. MTU 1500

B. NSX Controller connectivity
C. IGMP Snooping

D. Multicast Routing with PIM
E. Unicast L3 Routing

Correct Answer: BCE

QUESTION 14
What needs to be deployed before configuring the identity Firewall?

A. Network Introspection
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B. Data Security
C. LDAP Integration
D. Guest Introspection

Correct Answer: D

QUESTION 15

What can be enabled on the vSphere Distributed Switch to monitor IP packets that are passing through a distributed
port group?

A. Traffic Marking
B. TraceFlow

C. Traffic Filtering
D. NetFlow

Correct Answer: D

2V0-642 VCE Dumps 2V0-642 Study Guide 2V0-642 Exam Questions

2V0-642 VCE Dumps | 2V0-642 Study Guide | 2V0-642 Exam Questions 717


https://www.leads4pass.com/2v0-642.html
https://www.leads4pass.com/2v0-642.html
https://www.leads4pass.com/2v0-642.html
http://www.tcpdf.org
https://www.leads4pass.com/2v0-642.html
https://www.leads4pass.com/2v0-642.html
https://www.leads4pass.com/2v0-642.html

